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Physics

Mr. Gabrielse


Name: ___________________
Date: ____________________ 

Counting Significant Digits
Circle the doubtful digit:

	Ex: (0 pt) 450 mol
	1. (1 pt) 1200.0 MV

	2.  (1 pt) 205.8 μA
	3. (1 pt) 506,000,000 mK

	4. (1 pt) 1,900 nm
	5. (1 pt) 0.30 pF


Write the number of significant digits.  
	Ex: (0 pt) 703.0 A ( 4
	6. (1 pt) 19.7342 m (

	7. (1 pt) 4.141,45 · 104 μK ( 
	8. (1 pt) 205.8 kcd (

	9. (1 pt) 6,005 mg ( 
	10. (1 pt) 1,900 Gb (

	11. (1 pt) 0.082,06 ps (
	12. (1 pt) 1,200.43 Ts (

	13. (1 pt) 0.000,014 nm = (
	14. (1 pt) 6,000 K (

	15. (1 pt) 149,356 μA (
	16. (1 pt) 632 Hz (

	17. (1 pt) 8.730,0 s (
	18. (1 pt) 14.163,000 mA (

	19. (1 pt) 0.007,43 N (
	20. (1 pt) 14.000 km (

	21. (1 pt) 302,400 F (
	22. (1 pt) 302,400.00 kg (

	23. (1 pt) 8.732 mol (
	24. (1 pt) 0.001,987,2 cm (

	25. (1 pt) 14.000 kg (
	26. (1 pt) 20,000 Tb (

	27. (1 pt) 426.1 g (
	28. (1 pt) 8 ns (

	29. (1 pt) 60.0 A (
	30. (1 pt) 1,837 Gmol (


Use Scientific Notation to Express only the Significant Digits
	Ex: (0 pt) 2,750,000 m = 2.75 · 106 m
	Ex: (0 pt) 0.0020 A = 2.0 · 10-3 A

	31. (1 pt) 46 mol = 
	32. (1 pt) 29,050 g = 

	33. (1 pt) 0.001,95 K =
	34. (1 pt) 0.003,45 s = 

	35. (1 pt) 6,090,000,000 s = 
	36. (1 pt) 202 mm = 

	37. (1 pt) 340.0 s =
	38. (1 pt) 6,704 g = 


Complete the following unit conversions.  Put all answers in scientific notation.
Ex. (0 pt) How many micrograms is 47 mg?
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39. (3 pt) How many centigrams is 890 mg equal to?
40. (3 pt) How many centimeters are in 0.80 Mm?
41. (3 pt) 765 kg is equal to how many grams?
42. (3 pt) How many meters is 32 mm?
43. (3 pt) 700 nm is equal to how many centimeters?
44. (3 pt) 3.12 cm is equal to how many meters?
45. (3 pt) 1.50 · 108 m is equivalent to how many kilometers?
46. (3 pt) How many seconds is 64,000,000 ns?
47. (3 pt) 1.7 x 10-2 kg is the same thing as how many milligrams?
48. (3 pt) Kendall found the mass of a book to be 4.56 x 10-2 kg.  What is the mass of the book in micrograms?
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